ODD LETTER OUT #3

Once solved, the grid below will contain 25 of the 26 letters of the alphabet, one letter per square.

Use the accompanying clues to fill in each grid and determine which letter is not used.

The letter Q has already been inserted in its correct spot as a starting aid.

CLUES:

1. No letter is adjacent (horizontally, vertically, or diagonally) to another letter immediately before
it orimmediately after it in the alphabet.

2. Each column and each row contain exactly one vowel apiece (A, E, I, O, or U).

3. The letters in the word CHAMPION are all included in the grid, one of them in the central square, but
none of them along any outer edge of the grid.

4. The letters in the word VAT can be found in the same column in some order.
5. The letter W is found in the grid, but not in column 1.

6. The letters in the word LIMB can be found in column 3 in some order.

7. The letters in the word GRYF can be found in the same column in some order.
8. The letters in the word BURST can be found in the same row in some order.

9.Z andJ are in the same row.
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